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Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2025

ECONOMICS (SUBJECT CODE - 030)
(PAPER CODE - 58/4/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class Xll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \' ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.
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If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11

A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15

Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior School Certificate Examination 2025

ECONOMICS (Subject Code-030)
[Paper Code: 58/4/3]

Maximum Marks: 80

EXPECTED ANSWER / VALUE POINTS

Marks

SECTION -A
(Macro Economics)

Under the Keynesian theory, ‘Reference Line’ is a straight line passing through the origin
drawn at an angle of . (Choose the correct option to fill in the blank)
(A) 25° (B) 40°

(C) 45° (D) 70°

Ans. (C) 45°

Read the following statements carefully:

Statement 1: Marginal Propensity to Consume (MPC) refers to the consumption per unit of
income.

Statement 2: As the income increases, the proportionate increase in the level of consumption
is always more than the increase in the level of income.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false.

The main objective of measuring the primary deficit is to highlight present
(Choose the correct option to fill in the blank)

(A) fiscal imbalances (B) fiscal balances

(C) recovery of loans (D) cash grant-in-aid

Ans. (A) fiscal imbalances

Read the following statements carefully:

Statement 1: Import of heavy machinery from Japan is a source of demand for foreign
exchange.

Statement 2: Financial aid by International Bank for Reconstruction and Development
(IBRD) for landslide in Wayanad (Kerala) is a source of supply of foreign exchange.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true.

In a two-sector economy, the Aggregate Demand can be determined by adding

and (Choose the correct option to fill in the blanks)
(A) consumptlon investments (B) investments, savings

(C) consumption, savings (D) savings, exports

Ans. (A) consumption, investments

Read the following statements carefully:
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Statement 1: The government may reduce the repo rate, to control deflationary gap prevailing
in the economy.

Statement 2: The government may reduce the deflationary gap, by selling off government
securities (G-Sec) in the open market.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false.

To arrive at the value of Gross Value Added at Factor Cost (GVAFc), must be
to/from Gross Value Added at Market Price (GVAwmp).
(Choose the correct option to fill in the blanks)
(A) depreciation, added
(B) depreciation, subtracted
(C) Net Indirect Taxes, added
(D) Net Indirect Taxes, subtracted
Ans. (D) Net Indirect Taxes, subtracted

Read the following statements carefully:

Statement 1:  Public goods are those goods for which the payments are made by all the
entities in the country.

Statement 2:  Private goods are those goods which are provided by the government of a
country at subsidised rates.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false.

Under the Exchange Rate System, the Central Bank can control the foreign
exchange rate in a range bound manner. (Choose the correct option to fill in the blank)
(A) Fixed

(B) Flexible

(C) Managed floating

(D) Gold standard

Ans. (C) Managed floating

10.

Read the following statements- Assertion (A) and Reason (R).

Choose the correct alternative from the options given below:

Assertion (A): Direct taxes are imposed on income/profits of individuals/companies.
Reason (R): The burden of payment of direct taxes cannot be shifted to any other entity.
Options:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).
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11. | “Taxation is an effective tool to reduce the inequalities of income.”

Justify the given statement with valid reasons.

Ans. Government can use taxation as an effective tool to reduce inequalities of income,
as it affects the disposable income of people. It may impose higher taxes on the rich and 3
may provide subsidies to the economically weaker sections of the society on education,
health services etc. By adopting these measures, the government may try to bridge the
gap between the rich and the poor. (To be marked as a whole)

12. | Explain any two precautions pertaining to the Value Added Method of Estimation of
(@) | National Income in a country.
Ans. Two precautions to be taken while estimating National Income by Value added
method are:
e Value of intermediate goods should not be included as it leads to the problem of | 1%
double counting.
e Sale and purchase of second-hand goods should not be included as it does not | 1%
add to the flow of goods and services in the economy in the current year.
(Any other valid precaution to be awarded marks)

OR 3
(b) | On the basis of the following hypothetical data: (in X crore)
Year Nominal GDP Nominal GDP
(adjusted to base year prices)
2020-21 3,000 5,000
2022-23 4,000 6,000

Calculate the percentage change in Real Gross Domestic Product (GDP) in the year 2022 —
23 using 2020 — 21 as the base year.
Ans. Percentage change in Real Gross Domestic Product (GDP) in the year 2022-23

_ Change in Real GDP % 100 115
Real GDP
_6000-5000
= ~—=000 x 100 1
=20% Y
3

13. | Elaborate any two components of the Capital Account under the Balance of Payments
(@) | Account.

Ans. The two components of the Capital Account under the Balance of Payments
Account are:

e External Borrowings which include borrowings/lending from/to abroad by the 2
private sector and government. Such transactions are recorded in the Capital
Account as they affect the assets and liabilities of the nation.

e Investments to/from abroad are recorded in the Capital Account as they affect 2
the assets of the nation. (Any other valid component to be awarded marks)

OR 4

(b) | Distinguish between Autonomous transactions and Accommodating transactions.
Ans. Autonomous transactions are those international economic transactions which are
independent of the state of Balance of Payments (BoP). These transactions are 2
generally undertaken with an ‘economic motive’. Such transactions are called ‘above
the line’ items in the BoP account.

Whereas;
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Accommodating transactions are those international economic transactions which are
undertaken (by competent authorities) to cover the surplus or deficit in Balance of
Payments (BoP). These transactions are independent of any economic motive. Such
transactions are called ‘below the line’ items in the BoP account.

14.

Read the following text carefully:

According to a report issued by a research organisation, there is a sharp decline in the overall
demand in the economy, particularly in the private consumption segment. This dip in the
macro economic variables, highlights the urgent need for strategic actions to stimulate
economic activities.

On the basis of the given text and common understanding, explain the measure which the
government may take to solve the indicated problem.

Ans. The highlighted issue is deflation. To control deflation, the government may:

e decrease the tax rates which may increase the disposable income (purchasing
power) in the hands of the general public. Consequently, it may lead to a rise in
Aggregate Demand, thereby correcting the situation of deflation.

e increase the public expenditure which may increase the level of income in the
economy. Consequently, it may lead to a rise in Aggregate Demand, thereby
correcting the situation of deflation.

15.

Assuming the following for a hypothetical economy, estimate the level of Break-even
Income and Equilibrium Income:
(i) Autonomous Consumption Expenditure (c) =X 50 crore
(if) Marginal Propensity to Save (MPS) = 0.2
(ii1) Autonomous Investments (lo) = X 300 crore
Ans. Given, Autonomous Consumption Expenditure (€) =% 50 crore
Marginal Propensity to Save (MPS) = 0.2
Autonomous Investments (lo) = ¥ 300 crore
Marginal Propensity to Consume (MPC) = 1 — MPS
=1-0.20
=0.80
As we know, at Break-even level of income; Y =C
Y=c+(MPC)Y
Y=50+0.80Y
Y =% 250 crore
At equilibrium level of income; Y =C + |
Y = (50 + 0.80Y) + 300
Y =3 1,750 crore
Alternate Solution
As we know, at Break-even level of income; S=0
S=-¢ +(MPS)Y
0=-50+0.20Y
Y =% 250 crore

As we know, at equilibrium; S=1
-50 +0.20 Y =300
Y =%1,750 crore
(Any other alternate solution to be awarded marks)

Ya
Ya

Ya
Ya

Yo
Yo

Ya
Ya
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16.

(@)

(b)

(i) On the basis of the following data, estimate the value of Net Domestic Product (NDPkc):

S.No. Items Amount
(in % crore)
(1) | Household Consumption Expenditure 800
(i) | Gross Business Fixed Capital Formation 150
(iii) | Gross Residential Construction Investment 120
(iv) | Government Final Consumption Expenditure 270
(v) | Excess of Imports over Exports 20
(vi) | Inventory Investments 50
(vii) | Gross Public Investments 130
(viii) | Net Indirect Taxes 20
(ix) | Net Factor Income from Abroad (-) 25
(x) | Consumption of Fixed Capital 40

Ans.

Net Domestic Product at Factor Cost (NDPrc)=(i)+(iv)+(ii)+(iii)+(vii)+(vi)-(v)-(x)-(viii)
= 800+270+150+120+130+50-20-40-20
=31,440 crore

(ii) “Disposition phase of circular flow of income involves flow of factor income from firms

to households.’

Justify the statement giving valid reason.

Ans. Disposition phase of circular flow of income indicates the flow of spending by the

households on purchase of goods and services produced by firms.

Whereas, the distribution phase which involves the flow of factor incomes, which

comprises of rent, wages, interest and profits from firms to households.

(To be marked as a whole)
OR

(i) Suppose there are only three firms in an imaginary economy, viz. X, Y and Z. During a

year, the following transactions took place in the economy:

(D Firm X sold goods worth X 20,000 to Firm Y and X 12,000 to Firm Z.

(IT) Firm Y sold goods worth % 11,000 to Firm X and % 35,000 to Firm Z.

(IIT) Firm Z sold goods worth X 57,000 to households for final consumption.

On the basis of the given transactions, calculate the value of Gross Domestic Product at
Market Price (GDPwp) in the economy.

Ans.
Firms | Value of Output Intermediate Consumption Value Added
(in ?) (in ¥) (in ¥)
(i) (i) {() — (i}

X 20,000 + 12,000 11,000 21,000

Y 11,000 + 35,000 20,000 26,000

Z 57,000 12,000 + 35,000 10,000
1,35,000 78,000 57,000

Gross Domestic Product at Market Price (GDPwp)

(Any other valid method to be awarded marks)
(i1) Discuss the likely impact of construction of 20 new hospitals in a country on the Gross
Domestic Product (GDP) and Welfare in the economy.

Ans. The construction of 20 new hospitals may impact the Gross Domestic Product
(GDP) positively as improved health infrastructure may lead to an increase in

1%
Y2

N T
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employment opportunities. Moreover, it may improve the health status and in turn well

being of the people, consequently improving the welfare in the economy.

(To be marked as a whole)

17.

(a) Elaborate the process of Credit Creation using a suitable numerical example.
The process of credit creation is based on the assumptions that:
e entire banking system is a single unit.

o all transactions are routed through the bank only.

Rounds

Deposits

Loans

Reserves (20%)

1,000

/

800

200

800

g

—>

640

160

640

A

—>

512

128

Total

5,000

4,000

1,000

When a commercial bank receives primary deposits (say X 1,000), it has to maintain
some statutory reserves (say 20%). The remaining amount is made available for loans.
The lent sum of money is received back in the next round of deposits as secondary
deposits.

Total Deposits = Primary Deposits X
_ 1
= 1000 x o~
=3 5,000

This process continues till sum total of reserves becomes equal to primary deposits.
(To be marked as a whole)

Reserve Ratio

(b) Read the following text carefully:
"This function of money provides different items to be evaluated against a common standard.
It allows comparison of prices and keeping financial records."
(i) On the basis of the given text, identify the indicated function of money.
(i1) List any other two functions of money.
Ans. (i) The indicated function of money is ‘Unit of account’.
(if) Two other functions of money are:
e Medium of exchange.

e Standard of deferred payments.  (Any other valid function to be awarded marks)

Ya
Ya

SECTION-B
(Indian Economic Development)

18.

Identify, which of the following does not indicate the similarities in the policies of India and
Pakistan in the post 1947 period.
(A) Dual pricing policy

(C) Import substitution

Ans. (A) Dual pricing policy

(B) Green revolution
(D) Mixed economic system

19.

Identify, which of the following statements is incorrect about the Rural Banking system in
India. (Choose the correct option)
(A) In the post-independence period, a well-structured Rural Banking system was formulated
in India.

(B) Rural Banking system in India consists of a set of multi-agency institutions.

(C) Regional Rural Banks, Cooperative and Land Development Banks are few important
components of Rural Banking system in India.
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(D) Rural Banking system in India works under the guidance, instruction and supervision of
the State Bank of India.

Ans.(D) Rural Banking system in India works under the guidance, instruction and
supervision of the State Bank of India.

20.

In the post-independence era, the policy makers of India pushed for ‘self-reliance’ for the
first _ Five Year Plans. (Choose the correct option to fill in the blank)
(A)8

B)7

(C)6

(D)5

Ans. (B) 7

21.

Production of diverse varieties of crops rather than one specialized crop is known as
diversification of : (Choose the correct option to fill in the blank)
(A) crops

(B) agricultural production

(C) sectoral composition

(D) employment

Ans. (A) crops

22,

Identify, which of the following statements is incorrect about the functions of environment.
(Choose the correct option)

(A) Provides resources

(B) Absorbs wastage

(C) Sustains life

(D) Deteriorates quality of life

Ans. (D) Deteriorates quality of life

23.

Read the following statements carefully:

Statement 1: The Food Corporation of India maintains buffer stocks of wheat and rice as a
measure to improve market mechanism.

Statement 2: Minimum Support Price (MSP) is imposed by the government to safeguard the
interest of farmers.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true.

24,

Suppose an economy is experiencing a situation of rise in Real Gross Domestic Product
(GDP), without any corresponding rise in the employment opportunities.
In economic parlance, such a situation is termed as growth.
(Choose the correct option to fill in the blank)
(A) casual
(B) informal
(C) formal
(D) jobless
Ans. (D) jobless

25.

Read the following statements — Assertion (A) and Reason (R). Choose the correct alternative
from the options given below:

Assertion (A): Excessive regulation of permit license raj prevented certain private firms from
becoming more efficient.
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Reason (R): Private sector wasted a significant time in obtaining licenses rather than
enhancing product quality and international competitiveness.

Options:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

26.

Read the following statements carefully:

Statement 1: The British policies were accountable for commercialisation of Indian
agriculture.

Statement 2: In the larger interest of Indians, the British rulers focused on the infrastructural
growth of India.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
Ans. (A) Statement 1 is true and Statement 2 is false.

27.

Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below:

Assertion (A): Information plays a crucial role in judicious decision-making about investing
in human capital.

Reason (R): Individuals invest to acquire information about the labour market and other areas
such as education and healthcare.

Options:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

28.

Elaborate the reasons responsible for emergence of poverty in Pakistan.
Ans. The reason for the emergence of poverty in Pakistan’s economy were:

e Pakistan experienced uneven agricultural growth, food supply situation which
were dependent on good harvest and not on the institutional process of technical
change.

e Pakistan faced the problems of overdependence on remittances, rising foreign
loans and increased difficulty in paying back the loans.

(To be marked as a whole)
(Any other relevant reason to be allotted marks)

29.

(@)

“Under the British rule, India underwent systematic economic exploitation with its resources
and wealth being diverted to Britain.”
Justify the given statement with valid explanation.
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Ans. During the colonial period, India's resources and wealth were exploited and
diverted to Britain by transforming the country into exporter of raw materials and
importer of finished industrial products from Britain. Moreover, the export surplus did 3
not result in any flow of gold or silver into India. Rather, this was used to make
payments for the expenses incurred by an office set up by the colonial government in
Britain, expenses on war, fought by the British government, and the import of invisible
items, all of which led to the drain of Indian wealth to Britain.

(To be marked as a whole)

OR

(b) | Appraise the Navratan policy adopted by the Government of India in the reforms of 1991.
Ans. In order to improve efficiency, infuse professionalism and enable them to compete
more effectively in the liberalised global environment, the government identified a few
Public Sector Enterprises and declared them as ‘Navratnas’. They were given greater 3
managerial and operational autonomy, in taking various decisions to run the company
efficiently and thus increase their profits. The granting of Navratan status resulted in
better performance of these companies. (To be marked as a whole)

30. |Read the given text carefully and answer the following questions:

In response to the problem of rapidly rising population, China introduced the ‘One Child
Policy’. The policy restricted couples to having only one child. This policy helped China to
limit the population growth.

This policy led to significant consequences, such as an increase ageing population, gender
imbalances due to male child preference, and social challenges for single children, etc.

This policy was relaxed in 2015, allowing all couples to have two children and further relaxed
to three children in 2021.

Overall, while the One Child Policy achieved its primary goal of controlling population
growth, it also created a complex set of demographic and social challenges that China
continues to address today.

(@) Explain the consequences of implementation of the One Child Policy in China.

Ans. Implementation of the One Child Policy in China led to a drastic fall in population
growth rate in China. Besides, it had various adverse effects like a higher proportion of 3
elderly population, gender imbalances due to male child preference and various social
challenges for single child, etc. (To be marked as a whole)

(b) State any one reason for the implementation of the One Child Policy in China.
Ans. One Child Policy in China was implemented to curb the rapidly rising population. 1

31. (i) Distinguish between human capital and physical capital.
(@ |Ans. Human capital refers to the stock of knowledge, skill and ability imbibed in the 1
owner of the same, i.e., human capital is inseparable from its owner. It cannot be sold
in the market, only its services can be sold in the market.

Whereas;
Physical capital are the assets (plant and machinery, building etc.), which are tangible 1
in nature. It is separable from its owner. It can be transacted in the market.

(i) Describe ‘LPG’ and ‘Gobar Gas’ as strategies used to achieve sustainable development
in rural areas.

Ans. Liquified Petroleum Gas (LPG) is a clean fuel that reduces household fuel pollution
to a large extent and minimises energy wastage. For the gobar gas plant to function, 2
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cattle dung is fed to the plant and gas is produced which is used as fuel while the slurry
which is left over is a very good organic manure and soil conditioner.
(To be marked as a whole)

OR 4

(b) |[(i) Critically appraise the micro-credit programmes in rural India.
Ans. Micro-credit programmes fill the gaps in the formal credit system. Due to non-
availability of collateral a vast proportion of rural households go out of the credit 3
network. Micro-credit system has brought these poor households in the ambit of formal
credit system by providing them loans at a concessional rate of interest. However, it is
alleged that the borrowings are mainly confined to consumption purposes.

(To be marked as a whole)
(ii) State the meaning of sustainable development.
Ans. Sustainable Development is the development that meets the need of the present 1
generation without compromising the ability of the future generation to meet their own
needs.

32. | State and elaborate whether the following statements are true/false, with valid arguments:
(@) Organic farming offers a means to substitute costlier agricultural inputs with locally
produced organic inputs.

Ans. True. Organic farming offers a means to substitute costlier agricultural inputs 2
such as HYV seeds, chemical fertilisers, pesticides etc. with locally produced organic
inputs that are cheaper and thereby generate good returns on investment.

(b) Informalisation of workforce in India, has increased various concerns on the front of
employment generation among the youth of the country.

Ans. True. Informalisation of workforce has increased concerns regarding job security 2
amongst the youth. There is a problem of lower earning and lack of social security
benefits.

33. |(i) ‘Indian economy has hugely benefitted by the disinvestment policy adopted by the
(@) |Government of India in the post 1991 period.’

Defend or refute the given statement with valid arguments.

Ans. The given statement is refuted.

The disinvestment policy initiated by the government mobilised a lot of funds, yet it also
had its shortcomings. The assets of Public Sector Enterprises (PSEs) had been
undervalued and sold to the private sector. Consequently, there was a substantial loss 4
to the government. Moreover, the proceeds from disinvestment were used to offset the
shortage of government revenues rather than for the development of PSEs and building
social infrastructure in the country. (To be marked as a whole)

(i1) Distinguish between Tariffs and Quotas.
Ans. Tariffs are a tax on imported goods that make imported goods dearer and 1
discourage their usage.

Whereas;
Quotas specify the quantity of goods that can be imported. 1
OR 6

(b) |(i) Discuss briefly the financial sector reforms undertaken by the Government of India in the
post 1991 period.

The financial sector witnessed a major revamp under the economic reform process of
1991 such as redefining the role of RBI from regulator to facilitator of the financial 4
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sector. It implies that the financial sector could now take decisions on many matters
without consulting the RBI. The reform policies led to the establishment of private
sector banks (Indian as well as foreign).

(Any other valid reform to be awarded marks)
(ii) Distinguish between Multilateral Trade and Bilateral Trade.
Ans. Multilateral trade is the trade by a country with more than two nations to exchange
goods and services.

Whereas;

Bilateral trade refers to the exchange of goods or services between two countries.

34.

Read the following text carefully:

Indian labour market indicators have improved in the last six years, as per the Periodic
Labour Force Survey Data. The unemployment rate has fallen to 3.2% in 2022-23. Rising
youth and female participation in the workforce present an opportunity to tap the
demographic and gender dividend. The factory employment data exhibits the bounce back
of the organised manufacturing sector in FY 2022-23 with rise in employment and the
upscaling of factories.

The net payroll additions under EPFO have more than doubled in the past five years,
signalling healthy growth in formal employment.

To generate and sustain quality employment, agro-processing and care economy are two
promising candidates.

On the basis of the given text and common understanding, answer the following questions:
(a) State any one significance of rising youth and female participation in the Indian
workforce.

Ans. Rising youth and female participation in the Indian workforce can provide an
opportunity to tap the demographic and gender dividend.

(b) Identify any two sectors which may be highlighted as promising for generating quality
employment in India.
Ans. The two sectors which may be highlighted as promising for generating quality
employment in India are:

e agro-processing

e care economy.

(c) Elaborate the meaning of disguised unemployment with the help of a suitable example.
Ans. Disguised unemployment refers to a situation when the person seems to be
employed but is not contributing to the output i.e., his marginal productivity is zero.
For example, suppose a farmer with four acres of land and two workers can produce
100 quintals of wheat. Even if he employs one more worker, the total output remains
unchanged. Hence, the contribution made by the additional worker to the total output
is zero and thus can be said to be in a situation of disguised unemployment.

(To be marked as a whole)

* k %
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Marking Scheme Hindi Medium
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2025

ECONOMICS (SUBJECT CODE - 030)
(PAPER CODE - 58/4/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class Xll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.

XIl_030_58/4/3 Economics_2025 # Page-1




8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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3 FiorT =< wremy
iR wpa aféfthade uier, 2025
3= (fawa #1s -030)
[UY-UF BIS : 58/4/3]

Siftrman 3i®: 80
uy . 3P
< e SR/ ey fag
dg .$:
Ay rdemd
1. mav'ﬁ@a% Gi?ITfH, Haﬂ-ﬁ'@ﬂ (Reference Line) WW@E‘TT@%—Q@:@
ToRA dTell T et [ 3| (R = o gfd & e It Ay o1 oA Fifom)
(A) 25° (B) 40°
(C) 45° (D) 70°
3IR: (C) 45° 1
2. | FofaRad HyHl T eaFYdd e S

Y 1 JHTd ITHRT TgRT (MPC) | T Ufd 31T Sh18 SUHNT I B

f@ﬁzéﬁ&%ﬁqﬁém, JUHT & TR & U gfg Ted 3 & TR A gfa J
|

feu U syl & Sl §, Fufafad # @ I8t fdwen o1 9ga Sifv

(A) BYT 1 T § 3R YT 2 T ¢

(B) T 1 3 § 3R HY 2 T g

(C) BYF 1 3R 2 S TI B

(D) BUT 1 3R 2 S 3 A B

I : (D) PYUT 1 3R 2 I 3 B

YA g1¢ & AU &1 T 36-d aHH R M dHfad HAT G

(R = 31 gfdd & fore T8t fadvey 1 = Fifog)
(A) forcftr sriqerr (B) forfTar T
QBB It (D) THE Rl 3IaH

[T Yl T YA ST BIST: '

Y 7 STAH J YR ARIART BT 37T faeRit G&1 1 31 &1 U 9id 6|

Py 2 IS (peT) W YIS b 1T Sy gAfafor g fasr deb (18RD) gRT forefta
erad, fae=h ga1 3t 31gfd &1 Ue did |

AU T Syl & 3irellas |, Fafeiad @ 9 U8t fdwed &1 999 Hifoe :

(A) FUT 1 T § 3R HYF 2 3 ¢

(B) T 1 3 § 3R HYF 2 T 5

(C) YT 1 3R 2 aHI TA |

(D) BYF 1 3R 2 G S

JW: (C) FYT 1 3R 2 G- A &

5. | U fg-adig srfouawun §, 9w | g P TN gRT YR &1

Tl g (e = &t gfd & o O faded o1 wF Pifom)

(A) ITHTT, faw (B) a9, =

(C) ST, §Fd (D) 534, fafd

IR : (A) SUHTT, FHawr 1
6. | FafaRad HuAl &1 AMYaD AT BIOTT :

F 1: THR fHa) sifogagwr H vaferd UTpifdeRY 3idRTd ol afAd &1 &

forg, Y0 R | et B Tl gl
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FY7 2. DR o IR T RDBRT UfdU[rT (G-Sec) DI foeh! gRT, SUBIfABRI SfeR1dd |
HH B Ghdl B

feu U Syl & Sieie H, Ffafad § 9 U8t fawen o1 9gq Sifve

(A) BYT 1 T § 3R YT 2 3T B

(B) T 1 3 § 3R HY 2 T g

(C) BYT 1 3R 2 S I T

(D) BYT 1 3R 2 I 3TA B

3ITR: (D) BYF 1 3R 2 I AT &

g ANTd R Yhdd G gl (GVAr) P e Dl U DR o oL, a6k $iad IR Fobd oo

3G (GVAw) H/A T DI EIRIEIEY

(et R &1 gfdd & ford g faded o1 oo Sifo)
(A) I8N, SISl
(B) IR, Il

(C) faa srucel &3, ShsT
(D) Fad 3ruTe ®X, gern
JR: (D) FFad 3rvef #1, geran

[T Yl T SHTTYdh ST BIWT:

$§7:Wﬁ$aﬁﬁ,%aﬁﬁﬁ%,wmwgaﬁww@¥mﬂwm

ST gl

Py 2 FAoh a¥qy, d axqU el &, Sl fordll Y Y WBR gRT U (subsidised)
W R IuAS BRTS it g

feu U Syl & Sl §, Fufafad # @ I8t fdwen o1 9gq Sifv

(A) BYT 1 T § 3R YT 2 T ¢

(B) T 1 3 § 3R HY 2 T g

(C) BYF 1 3R 2 S T B

(D) BYT 1 3R 2 T 3TA B

IR (D) BYF 1 3R 2 AT ST 2

faf T o vomelt % sfarid, et oo, fad=h fafma ([@om R & e = g
ﬁtrﬁa'mao—qw% (R =M Y off & e 98t by o1 o P
(A)

(B) THI

(C) gsferd fardt

(D) WUl A

IR : (C) yafdd faeht

10.

fFufafad YAl - IfHHUT (A) 3R BRUT (R) BT 3007 BT |

e feu U faweul | ¥ 98t fadweu &1 994 Hifvig

SFYT (A): UG B Afaaal/puil ol M/AH TR R T Sd g1

PRI (R): T BRI & YT BT A1 [t 3T IhTs R WIMIIRA o} bl off el g |

(A) S (A) 3R BRUT (R) G I & 3R BRI (R), FHBUT (A) BT Jet AT ¢
(;) MUBYT (A) 3R BRI (R) G T §, AfdhT BRI (R), THBUT (A) Pt Tl AR TgT
|

(C) HBYT (A) T 8, Afh= BRI (R) 3 g

(D) AHBYT (A) 3 B, Afdhd HRUI (R) I &

IR: (A) AFHBYT (A) 3R PRUT (R) SHI T & 3R BROT (R), AFUBYT (A) T Tt
ST 2

11.

"3 B SHFATISN DI HH B P 1T HRAUTT Th YHTA SUHRUT g 1
Y HRUN gRT AT 7T Y7 o1 i g P
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IWR: PR AT B JFAFAISN B FH B & o8 HAYT HI TH YHTA SUHI0 &
FY A IUYNT B hdl 8, T T8 @l 1 YIS 3T B UHIAT HdT 8| TRPR Ut
T IR I BT A Dol & 94T FHS & ATffd =7 | HHSNR a7 b1 e, W@y
Jqraif 31 TR IUSH USH B Pl & 1 39 IUTHl B TSR, TWPR Ut aur A &
& B @1 DI UTe BT UATE B gl 2l

(X SR DI TP 1Y Sifhd fHar S 1)

folt o & Tl o & siidaq Bt gou-aftia fAfY ¥ i feel & wraenfat &t aare
DI |
%m-a%ﬁmmmmmamﬂmwmmwﬁﬁwm

o TeOadl aegsN BT Yed: 3 fRIferd 81 fbar = T1feT e $U9 agst MUl
o g IAA gRA |
o RTHI aEgan 3t fas oik Tite: 3 wfdrfera =18 favan s wnfee wife g =1q
o § aegaii ok Tare & vare | gis T8 dear gl
(39 IS URIFTS Graurh & Rig +ff sie yer fpu @)

3ryar
fafafea s sifdes! & STYR IR
R IS H)
¥ ATHHTE GDP AT GDP
(3MYR T Bt HIFd T FHEIRT)
2020 - 21 3,000 5,000
2022 - 23 4,000 6,000

2020 — 21 W 3TYR T A gY, I8 2022 - 23 H qRdfdd qhd g @IS (GDP) H Hfa=rd
gRad- o1 0T BT
IWR: Y 2022-23 & ERM TRAIS THd T SIS (GDP) H ufa=ra ufead=
_ Iafd® Gpp HuRadd
- IRAIP GDP

_ 6000-5000
T 5000

=20%

x 100

x 100

12

12

1%

b

YT Ada ATd & Sfid Yoit WTd & fargl &1 gedh! Bl ARSAT HIfor|
IR: YA Hge WTa & it Yol Wid & &t g o
o g B oA el & 3R IRER gRT fad=n |/ & B T A/ UeH
FT i 31 ¥ a9-39 ot @ # ool feu 9 § wife, 3 g $
giveufual iR ¢aeIial ot yuTfad vd 3
o fad=i &y & fre Tu fdwr ol @ # oof fre o § i, @ g @t
ufEufal s yvifad 3d 1
(30 fralt 3y wew & g off oiw weM fru T 1)
3yt
WA Al d GHRISH Al § 3R TF S|
INR: WA A-¢1 3 SRy anfde @=-47 8, St YaH dged (Bop) 3t fRufa &
Wad gl &1 A A9-3 g -3 SE=ar A fHu o §1 ¥F A99-39 &1 BOP Wi |
IET Y FHW B AS HET AT gl .
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HHTASH A9-3F § SRg onfies a9-37 §, St YT |ged (BOP) ® Jftdiw / ue | 2
B UTeH & e (@em ifa1ial gr) fre oI §1 3 a91-34 foedt off onfdfe s @
T gid €1 0 A9-37 F BOP WId H Y@ A R Ft 7S Fg1 wIar 8|
4
14. | FgfciRad w1 &1 3T DIfOTT :
T WY IR GRI T RUid # oel T g b srfogawn # Iw A, faRives Aot
IuHIT IS , fa fRTae 31 81 g oififes =Ri & wg weit, nffer mfafaferat &) ticafed &t
& for Iumifae Sriafeal &t debTel TaTHhdl o URdféd Bl gl
U 7T T TUT AR IE & SHTUR WR, 3 IUT B RS HIfTE folg IRBR Jobid T
B! 31 B P I 33T Tauell B
IR SR T § rdugwyT &Y Yhfad Iawm uwpifa 81 srqawifa &1 fAafa #33
¥ forg, TR gl wen Io1 9ol 3:

o TP R A PH P TPl o oI M ST > g1uf # yaiey 3mag g i) |
¥ gfe g Jdt 31 aRvmIEEy, 399 99y 9 # gfs g I@dl 7, e
pifa # fRufa <) FArfa fear s awar g1

o WS g A 3fS B Fhdl 8 s srforawn H s T TR Sg wHar el |
TRUMTRGR=Y, 399 I |1 § gfs 8t 9dl 8, o sruwwifa #t Rufa «t
frifaa foar st aoar 21

4
15. | T HIed-e SRIFHaRIT & g FafaRad &1 A §U, TH-IR 311 9 I 31 & KRl &1
STHM TST :
(i) TR SUHRT & (©)) = T 50 PRIS
(ii) id s=d Ugfi (MPS) = 0.2
(iii) ¥aTa 9= (1) = ¥ 300 RIS
W:WW%,WWWW(E) = ¥ 50 crore
Hwia a9d ygir (MPS) = 0.2
AT« 4w (10) = T 300 FRIS
Hid UM gy (MPC) = 1 - MPS
= 1- 0.20
= 0.80
ST P EATHAE, M F IH-TR W Y = C 1
Y= c+ (MPC)Y
Y=50+080Y 2
Y = ¥ 250 FIS V2
A FAGATRR U, Y = C + | 1
Y = (50 + 0.80Y) + 300 2
Y = 21,750 BRIS 2
dpfeu®s I 4
ST P FIaE, M P IH-TRW; S =0 1
S =-cC+ (MPS)Y
0=-50+020Y Y,
Y = T 250 FRIS Y,
ST fE P ®, SgEaT UR; S = | 1
-50 + 0.20 Y = 300 Y,
Y = ¥ 1,750 FIS Y,
(3T PIS Ahfcu®d IR B! 3P AT ST) | 4
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(i) Fafafed siidel & SR W, Y& TR IATE (NDPr) & b BT STHMH THIZT ;

7T s I
7 IS
7
() | e IuHT T 800
(i) | gpd IR Rt Yot fAmfor 150
(i) | T Marita FHatr fRaw 120
(v) | TRPRI i ITHIT > 270
(v) | 3maTd &1 faTg WR Sifdeg 20
(vi) II'I?IFjﬁ (inventory) o= 50
(i) | Ted gdeEe o 130
(vii) | T SATTE IR 20
(ix) | fac=Il ¥ U g b 3 (-) 25
) | TR ol BT IuHT 40

JUR: Y& ‘Eﬁﬁm ST (NDPkc) = (i) + (iv) + (ii) + (iii) + (vii) + (vi) - (v) - (x) - (viii)

= 800+270+150+120+130+50-20-40-20

= 31,440 FS
(ii) 31T & Th1g YaTg & UM (disposition ) TRUT H HHI ¥ eI dPh B 31 (factor
income)?ﬂq‘l-ﬂ'q’ﬂﬁﬁﬁam%l’
3¢ HRUT ¢d §U B Bl g B |
IR: T & T 1Y YaTE &1 fAUe™ aRol, Bl gRT Icuried axgaii 3k Aarsii & Ha R
e §RT 309 & UaTe $I 3Rd Har gl
ST, faaor TR § wHl | T &F $ 3R PRS AT $T Ud1g Jfwfera giar 8, o
=T, woTg Y, saTeT Ut ey iR g 7 |

(R SR & TH 1Y Sifdrd fparSmw 1)
SIYdr
(i) AT ST 5, Tep preufie srforaeyr & o i BH X, Y T Z €
T 98 & aRM, Srferaer § e ae i e g :
(1) TH X GRTHH Y BT % 20,000 TUT HH Z Bl 12,000 & Hed &1 A foeh! fooam T |
(Il) TH Y GRT HH X B % 11,000 TUT HH Z Bl ¥ 35,000 & Hed &1 AT foeh! fooam T |
(1) B Z GRT TR I % 57,000 & Yed HT AT i IUHT & g faest fosan |
ﬁnwaﬂa%?émﬂwwa{ﬁwawﬁ,wqmwam TR TG (GDPyp) b Yo
O |

3R
w4 | SAETETTH ATl SUHIT g 9¢F
&) @#) @ H)

() (i) {(@i) - (ii)}

X 20,000 + 12,000 11,000 21,000

Y 11,000 + 35,000 20,000 26,000

y4 57,000 12,000 + 35,000 10,000

1,35,000 78,000 57,000

TR & TR G5 UG TG (GDPwr)

(31 fpeft Ay IR & e 2ff o wer fru wmd |)

1%
b

e e e )
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(i) TPt ST 20 71U STt o A0 &1 fht srfeqawil § Tad ORe 316 (GDP) T HedTul
IR USH a1 FHIfad WHTal &t gt difod |
JTR: 20 Y SRUATA & AT A Hd TG 3G (GDP) TR APRIHD UHTT TS AHdl
§ P dgar WY TUTR® JI=AT V AR & awR) § gf 8 Iohdl 31 Iy &Y,
TN O - WA & TR § YR B9 F SRUT Sl B et & gfg 8 Gl €, auT
TR, SrforawT § Seurur § JUR 8 Hhdl gl

(R 3 & v A1 3ifha T ame )

17.

(@) SUTF] TEATHD IaT6R0l GRT NG o UiehdT B AR I THRU |
IWR: ARA gor @) uferar fRafafad araarsit w smenfia @:

- Xiqui §fd yorrelt e goTS &1 .
- W 99-39 P9 dF P A1AH 9 g1 fhu &
g SHIE BT 3RI&d B (20%)
I 1,000 800 200
T 800 “——> 640 160
n 640 T > 512 128
Total 5,000 4,000 1,000

g I3 iforfou® dF wAfie sar (| Hifre 21,000) UTE FRar 8, 9 S) O dufAe
BIY (A AT 20%) TT @1 USdT g1 QW IR HUT & forw Iueists H1s Sell gl
IYR 1 T IR o761 & AT IR A fg e oo & U & 9199 yred gt 2

. 1
P STHTY = YTYFH® 4T x g e
1
= 1000 x —
0.2

= % 5,000
g UfhdT a9 a@ SN Tgal ¢ oTd a® WRTHS STHT $of RIS T & SR16R 81 g1
&Gl (X IR &I T 91y 3iferd frarwme 1)

@) Fafafad T &1 ey e i ;
"H&1 BT I BT Th AHRI AFS & ATH Hedich 1 o arelt fafid 7! &l Iuasy Hial
21 U8 i & gaT B g faxiia Repied [aq &F 3rHfa Sar gl

() feUTT TR & 3MYR R, YT P Ybldb B I Ug= PIFT |

(i) T& P bl al 30 Bl Bl GdIaG DI
IR: (i) ST BT HHAD BT - AW DI gHIS | 1
(i) G&T & S 3 BT 3
. Cake it ] Y,
« YT YA HT S | Y
(31 fpt Ay wrdf & foru oft 3 UeH fpy wT0)
6
Ts 9
YR nfde faera
18. | UgaM ifort i, RufeiRad & ¥ H19-31 1947 & UYTd YR d U &1 Hfaat & JH=dT
DI ST FeTPRar g |
(A) T8 FiAa-Fyfor Hifg (B) B whifd
(C) 3T Ufa=ITgA (D) frf¥ra srfeuawr omeh

IW: (A) eregd) Biad-frufor Hifa
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19.

T BITT b, YR 1 UTHIUT Sh7T YU & SR | (AT § § $IH-91 U7 JWeg |
(a1 faded o1 99 HIfo)

meﬁ,wﬁwwwawmwmmﬁw
T T

(B)WﬁWWWﬁG@—WWWWW%I

(C)ﬁéﬂﬂﬂﬁ,ma@ﬁw%wﬁuﬁm' JuTTell & P& Headyol

Brecad

%%Hﬁwﬂméﬁmmméa%%mﬁﬁﬂauﬁaw%&mw
|

IWR: (D) YR | yrefior afr youreft uRdg Re s & wnfexq, Adwm g wiagr &

Sfafa s w21

20.

AT IWId Ay 7 URd & Aifad Fafarsiauym  dgaufy aemmsit & faw
SrARHRAr R T9 fear (Y =i &1 gfd & forw 98t faswed &1 997 Sifor)
(A) 8

(B)7

Q6

(D) 5

3IR: (B) 7

21.

3! foRiY Bud & R W, Bl &1 A fhel &1 Sdred & fafaeipur & =0
T ST ST gl (e =i &t gfd & for Uet fasred &1 T sifor)
(A) TIal

(B) HY ITGA

(C) &g TR

(D) SR

IR (A) BTl

22.

UG i {3, TOTaRUl & Bt & HeH | FRafifad §  o19-91 51 JFe |
(el fawey &1 g7 PIfS)
(A) TITYT ST BT
(B) UMY AT BT
(C) SitaH ST X@-T
(D) it & T[UTardl T G HRAT
IR : (D) STaT DY UIGHT BT GRT BT

23.

fafaRed Hu= &1 e gd® T Bifo :

&Y 1 YR W AT, I6R dF &) YURA & U™ & T4 § 715 9 Irad b1 dHhR Ll
ST 3T B

?ﬁe/vz::%aanwz&mgq(MSP),WWWé?%aTﬁ?w%mﬁufﬁﬂmw

|

fau U wy=T & s H, Muferfad H T Igt fdded &1 T HIfore :
(A) PYT 1 T g 3R HYT 2 3T B

(B) HUT 1 3T g 3R HYT 2 I g

(C) PYT 1 3R 2 SHI T B

(D) BYT 1 3R 2 T 3TA B

IR : (C) BYF 1 3R 2 S TA |

24,

A o fob, T srdagamT fomT foreht 3ferd AR & 3fawRi H gfs &, aRafdsd T o
IS (GDP) A i @t U o1 T o 381 ]|
31ffes yron , Uit fRufar ot 3fs FET oA B

(et R &1 gfdd & o Wg! fased o1 7o Sifom)
(A) 3T D

(B)
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(C) NS
(D) ISR fagk
I : (D) AR fad=

25.

FafaRad HU=! - 3BT (A) 3R BRUT (R) BT LT DI
+id fau 7T fowedl & 9 g fadhed &1 9a- i :
wfwww:ug@{zamﬁw%mn%ﬁﬁw%wﬁﬁﬁwﬁﬁmﬁaﬁé
T
PR (R): o0 &F 3 IdTE $T [OIGT g 3 gfoyfd®d d 3fg & & S
Y Ut H Heaqul wH saie b |

(A) FUBYT (A) 3R BRU (R) ST A § 3R BRI (R), BT (A) D TS IR 2|
(%B) FUBYT (A) 3R BRU (R) ST A §, Afde BRI (R), HTUBYT (A) Bl et AT FgT
|
(C) FHBYT (A) T 8, Afh PRI (R) 3 g
(D) AHHYT (A) 3T B, Afdhd HRUI (R) I g
I : (A) ATHBPYT (A) 3R PR (R) S T & 3R PRI (R), FUBYT (A) BT Tl
e 2l

26.

afRId HU &1 ATGaD LT Bt ;

FYT 1: YRAG HY o ARG & forg feifesy Aot foer o

FY 2: YRl & 9 fedl & oy, fofe<r Il 7 URd 31 SMUTR®-WRe1 & fdd™ )R
& hiad fdbar 41|

feu T HyE & s H, Rufefad A T Ist fase o1 T Hifore

(A) BYT 1 T g 3R YT 2 3T g

(B) BYT 1 3T & 3R HYT 2 I g

(C) BYT 1 3R 2 G T &

(D) YT 1 3R 2 T 3T &

IR (A) BY 1 T ¢ 3R FYF 2 3T g

27.

fFufafad Ul - IfHBUT (A) 3R BRUT (R) BT 3007 BT |

i few e fashedt # @ gl faehey b1 = HifvTe -

S (A) - A1d Yoit & fa=r & faderyut fAufa o= & fore gem= deagut YT Rurd g

PR (R) - TN 9 TSR G 37 &A1 oI =18 qT TRy & aR H a1 U HR & g

BERERGED

faweu

(A) FHBHYT (A) 3R BRI (R) GFI TI & 3R BRI (R), ATHBYUT (A) D TgT TR 2 |

(%B) HBYT (A) 3R BRUT (R) T T §, Al BRUT (R), fHBHUT (A) Bt Tl RS FgT
|

(C) HBYT (A) T 8, Afh PRI (R) 3 T

(D) ATHHYUT (A) 3T §, Afhd HRUI (R) I &

I (A) AFHBYT (A) 3R BRI (R) T T & 3R BRI (R), AfHPYT (A) BT TET
ST &

28.

UTfhed™ H TRIS & I95d & 1074 [SFHGR HRUN &l ARST B |
ITR: UTfha= @t rdfarawyr A TR & Igd & BRI -
o TS A HE $IY Ao g @y smyfed ot Rufa 1 amwen fvar o st
wad R AR 4t 7 fo ae-iiet uRkada &1 Sxima ufsrar v
o UIfBTaE 3 U9 R rcafie Hadvar, fadzh woi o 9 aur »on &t argw ge=
A ggdt HIEATS B THWTSM BT YTHAT BT USTI
(X SR DI TP 1Y 3ifhd fHar s 1)

(3T DI AU FRUT B W 3ip U fhu wE 1)
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TSR A & SfaFid, URd P TR TP 0T BT HTEAT BT TS, T 1Y JH1ET
g ¢ Hug feic geaiaid fe T g

fau 7T By P 9y WY gRT Y Sifor|

IR SNUFARIT HTa & ERM, YR & GAIYH] 3R TUGT BT Gg- HI& foeT O faan
T | YR &) F= °Id & fafae iR e F dur ieifie Sl & smards & &4
% ufeafdd faar war | 3w sifafvea, Fafa iRy 89 & Trasg +ff yRa & 99 ar aidt
BT DI U4TE T1 §3ITI 9fewp, T U= BT ITANT SMUFafRIe TR §RT HRA § T=E=
TR 5T U T, gl R ag YT ey aEgsi & IMaTd & fore fvan man, /e srur
YR g o1 foe ¥ sryarg g1 S | (R IR &) TS 1Y 3ifdd forar s )

3rYar
1991 & GURI T YRd IRPR gRT 3UATS T8 TR =Hi1dl BT i HITorg|
IW: 1991 & JUYRI H, PR A, $O ATdA-IP &7 & ISTH S UgAH DI, qYUT, &l |
YR, ARSI B MATRd HI1 3R IR AYF arararor # iftre gurdt <71 )
ufeequf H34 § G4m99 84, S Favd’ Uiftd fbar| 399 3l @1 FRaaga® gaq
R AU B e & g, 37, fafia fFvfa a9 & it we et 3 ularast warawdr ueM
P TZ | TaRA BT goll ST A A 31 ITHI T USRI agax gaf|
(X SR DI TP 1Y 3ifdhd fHar sy )

30.

ST 71T T2 1 AHYED ST PO d FARIRIT Ui &b SR o -

dig i ¥ gfad™@ SHRe & Ufd-3wR ) =9 A Ted JaF Aifa’ IRY &t &t 59 Aifd &
ST Gl (couples) BT Had TP g1 T UGT B BT SIH UGH Bi 118 o s Afa 3 9
DI ST gfs @ Ffa s o weraar ot |

39 fifd & Ageayul RO f I g, o 5 ggf Pt S1fies SrERe, T &1 mrufiidsdr <A
P HRUT AT SRIGe Td Thdl T o g ArHTiores g 3fe |

2015 T 39 Hifa & <ia & 72, oo it grrett ) <) e et A Bt Al fird 718 ot qu
2021 T 39 3R R &b <19 Tami as &= far mar 41|

Fd AR, Safd Thd Jam ifd = SH9eAT gfa & B s & oo wiufls aga &t
U fohan T, IR 399 SN g Tl gHIfaal &1 U Sfed wqg of I farar
fSrRTepT T i 3T 1t IR TET R

@) 91§ Thd Jam Hifa & wrai-aa- & ulRomdl & HSST

w#ﬁmwﬂﬁ%mﬁwﬁiﬂqaﬂmq@aﬁmme@

frg, 59 -ifa & o3 ufapa gy i T, I 7, g TGS T 3A UM,

?mmﬁ$mmwammw%mﬁwwmg%m
[

@) I H Thd Td Hifd & S-aa & bl T BRI BT I Hifoid |

IT: 99 ® Td dae i dig 7fa 3 Tedl g3 S-ES WR G @ & e any at

ER]

(i) ATa gott @ Hifdes ot 7 Sfdr Wy P |

IR: A Yol A a1 I J1H, P 3R Faar & YR J 3 o 9@ W@l & Jarfd
2, orufd ura Yeft S Wit ¥ erfaursy 81 39 99iR § sy fasea =8 foan < T,
Fad 399! Qarsil $1 R | way/ fawa fear s gear 3|

Wifa® Y %Wﬁlﬁmeﬁvm,mfmﬁ)?,ﬁﬁwﬁrﬁqﬁ%lwmw
T 3T 81 SIPT IR A HU-Aepy fbar & godr g1

(i) ITtoT & H “LPG' @ TTeR T T YRUNY fIeh T UTed &R & ot SUTRT & S areft uifa
& ¥=U ¥ guiq B
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FTWR: ‘LPG’ Uh IG5 U ¢ Ol U 3UT & UGWUT Bl HTBI §¢ aP B Hdl § SR Sl
& 3T B HH BT 3 | MER T Wie & IaH & e, TaRR & MR o1 wie d s1er
W11 8 3R A §918 o1l B foraest SuahT g9 & w0 o farar <irar 8 9uT <Y 99 S €,
98 ARV TP Jgd 33T Afdd Wig 3R Yor "ade g1

(X SR B! Tw 91y Sifdpd fearwmw 1)

3rYar

(i) ITHTOT YR T Y&T-91RG (micro-credit) HRIHHI BT STATHS Heidh HIfoTT |
IR: Y&H I1E PTIHH SNTATRSG BT Yorrel § Mg Sl &Y qRT Hed 3 | BUMYR Ht
P F SR ITHIUT TRERT HT TH TST URT AR SAIRIT | 16X 81 S1dT 8 | J&H I
woIrelt 51 A1 UftaRT &) 9l 9191 @R UR U1 YeH S UariRe HUT Yol &
SRR | Al 1 gTaAifo, I8 ST &1 Sl @ fF BT 41 U § IuHNT Ie=al 9@ gt
a2 (X ST I T 91y 3ifdra fvar sme 1)
(i) URuita fawr & o @1 I Sifor|
IWR: YR faerT a8 faera 8, it Hidt didt &Y ermar 3 Tusian feu famm adam did
P ATTAH TSN B T HRaAT 2

32.

0T doh! gRT, I 9 faxgd saredt SifoTe fos FRgfeiRad oue I § Srar sid -

(@) SIfa® HY TG SN SN BT MG TR W IATCd Sifdd T o YfRATId HR o1
TS 1Y Y& B g |

I G| Sifad $Y, 987 Y smal 9 HYV §i9, e Sdv® g dleas anfe
B RITT TR IR IdTed HAP MTdl A law1iid H= &1 TP A1e= ueH Hdl 8, 5
% T g1 § a1 399w iR st ufawa fraar 21

gy@gjgr;f;g%ﬁwﬁmmﬁ%m%wﬁ%nwﬁwmw%ﬁm%ﬁw

|

I T | HTITA & SFUATRBIBRT = Faraii & TR GI&T BI ab< far 9¢1 4t g1
THY B AT 3R ARG JR&T a1Hl | dferd ¥8 wF ) quwar 3«d gidl 2|

(i) “1991 & IURIT AT T HRd IRPHR GRT TATS s (AR A T R rdoma®yT sfdd
afNfags g 1"
= T gRT feU 7TU oy &1 gadT a1 @9 S |
IW: AU U Fy= &1 W fFar wrar g1
WHR GRT YIS T3 fafra=r Hifa = v aen d o= e, fog 399 st @nfera of
ff| Trdwe &3 & Il (PSE) BT uREURA &1 3eU JRIid B 3¢ -oit &3 S ad
faa mar | aRumTETU, RER B FTE! 814 IoM1 ust | 39F rfafvaa, fafaw 3 ura
AT BT ITART I T IS &F & A & AP 3R arifore snutiRe a1 &
fFrafor & g WRERY e it FH B @R B & fore fvar man
(X W DI TP 1Y 3ifdbd fHar sy 1)

(ii) UL (Tariffs) T PICT (Quotas) T 3R WY HIfTT |
ITR: URIEP (Tariffs): AT a¥g3i TR T S AT B 8 SN AT aegail &
HE 941471 § 3R 3P SUUNT ! galaIed Har gl

\_rlﬁﬁ?;
PIcT(Quotas): HICT SATATT BT ST TH aTeht aeg il B AT o) Ay Fear g1

3Yar
(i) 1991 & IWId A H YR PR RT R fobT 7T faxity & & FuRT Bt J&u H ==

Gl
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IW: 1991 & IWid Mfdd YUR uferar & siavld faxiia & # 58 ufvad— gu, o &%
YRt erd §@ (RBI) Ft YfaeT 3t faxita g & fFriae 3 Sgre & &0 d gadiRyTia
T 391 oY B %, faxita &1 e RBI & Rt fbu famr % amat wR fAofa a9 o
T g1 B 1 YR ot & wror el & F St (urdta ok Rt g ot i
EEL (310 PIS Y JUR HI 3 feT w11 )

(ii) IgUa AUR 9 fg-uehy muR 4 iR Ty Pifr|

IR 98U IR TS 32 gRT &Y T 3 3= & 1y aegaif 3R Jaraff $T 3nmeM-
USH & & fore forar 99 a1 SR g1

Ruefta ETaR @ AT o) 2 & drg Tegan ok Aarell F JTeH-ver B3 ¥ g fru
S 9T IR 4 g1

34.

FafaRad T &1 eFgd® e B :

3MTARI® 9T T A& & 3fdbs! & IR, faTd &: auf §, YR 91 SOR Jhad! § YUR

g B1 2022 - zsﬁéﬁwﬁa?%mw%an%%lmaﬁgm&ﬁaw%w&ﬁaﬁuﬁaﬂ
T g ¥ SRS G i ATHIRT &1 T oM & SHa¥R W §U § | Hhac! AR 3Hidhs
faig a 2022 - zsﬁw@ﬁﬁﬁﬁwaaﬁmﬁmﬁ%lsﬂ%muﬁﬁwﬁq@as
HREM! BT IR Bl

forra uia auf & EPFO & Sidifd Y T U A 9T QA 3 $1fde g1 7Y §, off fb Wy
a9 SiiuaTies ISR &1 Yhd 1

TUIGTYU ISR Gor B3 g I §IE I8 & ol -0 9 caaTd SHSqa®Ri & af
AT fadwed g

faT TTQ TRy T 9 IE & SMYR R, FAgfaiad uslf & IR iioie ;

(@) YR RIS | d¢d1 g3 gal d Afgell HRTGRT &1 By Th Hegd IazUl
FW: YR Hriga & garefl R afgarsit @1 gedt Uriie’t srifare iy ik affre
ATUT BT ATH IS BT 3AGI U g & |

(F) HRd H TUIGAIYUl SRR Foi &g SMRISHS HH S alal {1 ol &3 1 IgaH S|
ITR: URA H Uyl JSRTR Goid & 1T m=meeie of &:

o PV FTEIHRT

o U SrfogawT

() STGET IETERUT B Tl I U5 d SRIRI & 3 BT fawga ame i |

IR U5 T RIS & dread ¥t fRUfY I 8 &9 $15 aafoa erika ot § fg SaureT o
PI3 ANTGH a1 ¢ TBT 3, Srdfa ST®! WHAid ST 1 I 8 | 3eTevvl & forg, 7 dfifore
% Uo a9 s YA 3R & AeigR) &A1Y 100 fhed N ST IAUTGH HRATR | 3FR
98 TS 3R UolgR $l H1H W 3Gl 7, a9 ot o Iaure sruivafda vear 31 g9 fRAfa 4,
od STe A ifafvad Aelgy gRT fFar mar ahve T § 3R 39 oK 34 fvd g8

RIS &1 fRATT $81 &1 FpaT B
(X IR &I T 91y 3ifchd fhar wme 1)

* k%
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